5 Different Ways to Solve Quadratics in Standard Form

Remember that “to solve” means to find the x-intercepts.

roots

- Soluhon$®

X-intercepts are also called: _ ZEI0S

Standard Form

Vertex Form

Factored Form

f(x)=ax’+bx +c

a, b, and c are real numbers

ftx) =(x-h)?*+k
Vertex = (h, k)

fo)=(xtm)(x+n)

m and n are real numbers

From a graph:
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Solutions:_ X=-=1,4
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Solutions: X = =2, -4
Factoring

3. X+5x+6=0
(x+2)(x+3)=0

¥x+2=0 Or X+3=0

lT(:-z x=-3]

4,

x2-3x-10=0
(x = 5)(x+ 2)=0

X-5=0 or X+2=0

X=S or x=“2_l‘
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Take Square Root of Both Sides

5. (x+5)2=16 6. (x-3)2=81
\’ AL 1
V(xs5)* *= 210 (x3 g
Xt5= 4 ¥=8249
X=-5%4 Xx=22%9
[X=-9 or x=-I X=-borl2
Complete the Square, then Take Square Root of Both Sides & ) .. q
2
7. x2+8x-30=0 8. x-6x=7
b>8
KMEx =30 (Efe Ki-bkeq = T+
2
x-3)"=1b
X5 8x+ b= 30+l0 (x-3)
R
(x+4)*= 4l Vg = £l
. - Xag= 2
V(x4 = 2\t R=—‘{i\/—tﬁ;l ew Bdl: 0
x4 = 4T [=-tor 7!
g gl STEPS:
Quadratic Formula X = b b i 1. Identify a, b, and c.
2a 2. Substitute these values into the formula.
9. x*+5x+2=0 3. Putonly (b)*-4(a)(c) into the calculator,
5 i €22 _ -5% ‘( R not the square root sign.
ke Xs 2 ® ‘i(l)(,Z.) 4. Take the square root of this value if the
2(1) answer is a whole number. Otherwise,
leave it as a square root.
t(: -5+ ‘!ﬁ7 . 5. Write the solution.
: 2 52-4(1)(2)
10. x*-5x-14=0 ’2_'5-8
a=l b=-5 C=-14 2
-(-5) £\ (-5)2- -14) .
2(1) 25 +50
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